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Section A: (30 x 2marks = 60marks)

For each guestion from 1 1o 30, four aplions are given, One of them is the comect
answer. Make your choice (1, 2, 3 or 4). Shade the comect aval (1.2, 3or 4) on lhe
Opitical Answer Sheet,

1. Which one of the following is translucent?

Brick

Clear glass
Frosted glass
Cardboard box

. Which one of the materials would be best used o make a cup 10 keep hot
coffee hot lor as long as possible?

{Hmetal

) Glass
- Paper
lyrafoam



A ball was placed in the middie of 3 cardboard box as shown in the figure
below. Four tubes, A, B, C and D were: placed in the box. Which of the tubes
€an be used to view the ball?

N
L

DA

Gl
@D

4. Which of the following young resemble their parents?

A. Catempiliar
B. Chick
C. Tadpole

{(1YB oniy

@_) and C only
[3)B and C onty
(@ A, Band C

5.

6. Which of the foliowing is not matter?

{4} Book
Wind
Sound
Water




7

8,

T LS

The diagram below shows the diferent stages of the ife cyele of an 2nimal

0NVl

/Pl \m'.pu

Egq

Mg

Wiech of the following ammals go through the fife cycle as shown abova?

A Bultarly
B. Mosquito
C. Chicken
D. Cockroach

Aoonly

and B anly
B and C only
B and D only

Which one ol the following s not a source of light?

Sun

Fire
Lightring
Maoon



Anice cube is left 1o melt on a metal tray as shown in the diagram below.

g metal tray
ice cube  ——___ [ S ;

liquid

A: The temperature of the metat tray decreases.
B: The liquid is losing heat to the surrounding air.
C: The temperature of the ice cube rises above 0°C.

{1)A only -
{2) A and B only -

(3)Band C only

(4YA, BandC




while
screen

clearred
plastic sheet ~

light source

If 2 clear red plastic sheet were placed
be observed on the white screen?

red

black

white

placed between the Iight source and the white screen, a
the white screen as shown helow.

shadow

in front of the light Scurce, what would

@

white

Mlack

red




11, Study the set-ups X and Y below.

Which one of the Tollowin
placed on the fiask in set-

(1)
(2)
)

4)

—_

T e

Water rises up the tube

Water rises up the tube

Bubbles escape from the tube at S

T Cloth at
/ jﬁ 90°C
\ I/
container

with water

g could be observed two mij
ups X and Y2

Subbles escape from 'the tube at S

N
-_—

Bubbles escape from the lube at S

Water rises up the tube

Bubbles escape from the tube at S

Water rises up the tube

]




12. Four rods made from different materials of the same length were attached to a

tank filled with hot water. Four thumbtacks were aftached to the ends of the
four rods with wax_

it was observed that the thumbtack on rod A falls off first, followed by the
thumbtack on B, then C and finally O.

hot water

What conclusion(s) can you draw based on the above observations?

Az Rod A is the best heat insulator.

B: Rod B conducts heat better than Rod C.

C: Some materials give off heat but others do not.

D: Some materials can conduct heat more readily than others.

@ A only

- 2PA and B only

3%B and D only
B.CandD only



13

Study the observations made of two animals, X and Y, in the table below
carefuily.

B ‘-——-__-__‘———-_—*:‘—_.—“_.__——-
Observations - . o
re are 4 stage int

There are 4 stages in the life cycle L
The young looks fike the aduit o N
Mtlays Sinwater .

The adult animal has six légs
— 2= SHINRGl Nas Six leg

Which of the following best represents a_r_}imal XandyY respectively?

Cockroach T
Chicken

Mosquito Butterfiy -
. _Mosquite | Cockroach

Study the flow chart below carefully
Does it lay eggs? %

Yes
i r
Does it have wings? J
Yes

Which of the fol!owing‘best represents A, Band C respeclively?

E, A UG ﬂl-r = N B
Chicken Mosq Frog
Mosquito Cockroach Horse

Horse Platypus Cockroach

Platypus Cockroach Mosquito |




15. Four pupiis, Peter, Jane, Tom and Sally, carried out an expenment using a
piece of plasticine They recorded their observations in the tabie below.

— —
Observation :
NATL T - -
When it is pressed, it becomes flat and thin,

| When it is placed on a lever balance, its mass is 259.
When it is putin a beaker of water, the water level rises_
Whose observation shows that the piece of plasticine takes up space?

"{l / Tom @ Sally
Peter @) Jane

16. Study the sel-ups below carefully. -

B:
—- black box
— dry cotton — damp cotton
wool — wool

damp cotton
waol

Which of the following Seeds will not germinate?

@A only
1<) A and B only
JA and D only

A, BandD only



17 The events that occur as a seed germinales are listed randomiy Below,

A The roal appears

B: The shool appears.

C: The leaves emerge.
[J: The seed coal breaks,

Which ane of the following represents the correct sequence of evenls in the
germination of a seed?

DA C. DB
C,

A
B

A, r
o,

- v
O0m

18. Al conducled an experiment and recorded the resulis in the graph as shown
bebow.

Height of
secedling/{lcm)
A =

i I B | b R > Amount of
10 20 30 40 50 60 /O water/{m/l)

-5 Based on his findings, which of the following best describes the aim of his
experiment?

gn prove that plants grow taller over time.
To investigate if water Is needed lor plant growth.
[0 prove thal the amount of sunfight affects the height of the seadlings.
To investigate how different amounis of waler affect the growth of the
seedhiings.

10



19. An experiment was setup as sh

own in the diagram. When w.
into the funnel, the water did not

ater is poured
flow into the fiask.

funne!
water

stopper

flask

(1) There was air in the flask taking up space.

The stopper stopped the flow of the waler,
The water was po

ured too slowly into the funnel.
@The water in the funnel could not mix with the air in the flask.

11



21, Study the flow charl below.

Definite Volume No

Yes Yes

8 | < |

Which one of the following best represents steam in the flow chart?




22.

bail
[

container with water

-What couid be the ma3in

reason for the difference
outside the giass?

in the water tevel inside and

(1)) The bail in the glass occupied space.

€ air trapped in the giass occupied Space.
he ball pushed the water out from the glass.
{4)The air trapped in the glass dissolved in the water.

23.

The table below shows the melling points of three substances, A, B and C.

e A is a solid at 8°C

¢ A and B are both liquids at 43°C
B and C are both solids at 140°C
C can be a liquid or a gas at 120°C

13



24,

Twa syringes, P and Q. contain substances X and Y respeciively. One end of
each synnge is sealed,

The plunger in syringe P could nol be pushed in while the plunger in syringa
could be pushed in slightly as shown in the diagram below.

Syrnge P [ '

Soaled o

Which of the following substances are most likely to be X and Y?

!{'——_..-r—._. e "'._ ..-'-.:_ull.'--l'—q..‘:..-::
e AR __Water
Carbon dioxide ___Oxygen
o = AR
_ Waler . Ui

The interaction between the system and the
Pl system helps the body to move.

A Circulatory
B8 Digestive
C: Musculsr
: Skeletal

A and C
Aand D
3B and C
Cand D

14




26.  Digestion of lood begns in the moulh and moves downthe
bafara il reacheas the stomach

1 Ll
Windpipe
Small inlesiine

4 | arge intestine

2. Mindy has 3 rods labelled A, Band C

She carried out a simple test by bringing a bar magnet near each of the 3 rods.
She then recorded her results in the table bolow, -

L2 G A
A X was attracted 1o the North-pole of the magnet,
¥ repelied lrom the North pole of the magnet.
B X was attracted to both poles of the magnel.
Y was also attracted (o both poles of the magnel
-3 ¢ | Beth X and Y were nol attracled 1o the two poles of the
magrel

Which of the following stalements aboul rods A, B and C is most likely to be
correct?

Hod C is made of a magnetic matedal.
Rod A and B are magnats,

Rod B is a temporary magnetb.
od A and B are made of magnetic materals.

15



28. Study the classification table below carefully. The plant parts are grouped

according to their functions.
Parts of
plants

Part B:
Helps plant to
make food

Part C:
Helps in
reproduction

Part A:
Absorbs water
and dissolved
mineral sajts

Which of the following fepresents the plant parts correctiy?

29. Which of these statements are correct about movement?
A Joints are hecessary for movements.
B. Movement takes place when muscles push against each other.
C. When muscles contract, they pull on bones causing movement.

take place.

A and B only.

. C and D only.
B,CandD only.
A, B, CandD.

16




Minhui carded oot an experiment to find out the magnetic sirangth of the
magnets labelled A, B, C and D, as shewn in the diagram below,

J00L

She took each of the magnets and placed them 15cm away from a pile of
paper clips.

' The 1able below shows the fAumber of paper clips atracted by the magnets A,
B, Cand D

Which of the following statement(s) isfare most likely to be correct?
A C is the sirongest magnel,
B: Magnot D is the weakesi magnel.

C: Magnel A ks as strang as magnel B.
D: Magnet B is stronger than magnel D,

|
é&\arﬂﬂwﬂy

Aand D only.

B and D only
@B,Canﬂﬂmly.

17
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Section B: (40marks)
Write your answers to questlions 31 to 46.
The number of marks available is shown in brackets [ }atthe end of each question

or part question.

31 Bala is in a room it with a lamp. He sees a ball in the room.

{(a) In the diagram below, draw arrows to show the paths of light that enables
Bala to see the bai. {1]

lamp
” Bala's eye

ball

(by State one property of light. [1}

—

Score_

18




132, The diagram below shows

a plastic container conta
it was stirred with a metal

ining hot tea and ice Cubes.
ladle and an

observation was made afier 2 minutes.
Room temperature at 28°C

_metal ladle
me

Ice cubes o
ICe cu ’/hot lea (95°C)

~—~plastic container

Put a tick (v) in the correc
object gained or lost heat. [2}

Score

9



33.

34.

(2}

®)

An National Environment Agency (NEA) officer spotted a few flower pots in
Hafiz's house which had accumulated water on their trays.

He told Hafiz, “You have fo gel rid of the water collected in the trays and
change the water in the vase regularly to conltrof the population of '

mosquitoes.”

Explain how the method advised b
population of mosquitoes. {2}

y the NEA officer can be used to control the

The diagramps below show inhe life cycles of a grasshopper and a méalwofin

beetle:

Life cycle of grasshopper

Life cycle of a mealworm beetle

State two differences between the two life cycles shown above. [2}

What wili eventually happen if the young animals do not reproduce as quickly

as the older ones die? 1

20

Score




Zenith set UP an expedment as shown in the diagram below. A piece of cotton
pad was glued to the inside of a container as below

_.

Coltonpad .| __

— tank

—

Coniainer

Score

21



36. Study the classification table below and answer the questions that follow.

Matter

j

Has no
definite
volume

- —

Has no
definite shape

I = ]
Clear I Transiucent ’ -

Water Jiok

Has a definite
volume

Has a definite
shape

I

(2) What are the three characteristics of “Jiok™? {2]

M)

(i)

i)

37.  Classify the following objects according {o the amount ot ngnt mey anow w
-pass through them. Write each object ONCE only.[2]

Mirror Aluminium Foil

L Tracing paper Clear plastic sheet

Score

22




Hui Yao had a metal ball and ring as shown in the picture below. Initially, the
metal ball was able 1o pass through the metal ring.

metal ring.

metal bal

metal gas burner
ring -

Give a reason for his observation. [2]

. Score




38, The diagram below shows a plastic botlle containing waler at 3 lemperature of

TO'C. Substance X was put around the plastic bollle. The water in the plastic
battie remained hol after 10 minutes.

e __ Maslic botlle
Water (70°C) . _ '

Substance X

{a) Give one possible example of substance X 1]

24




400 The graph below shows the changes in the mass of the seed leal during the

germination of a sead.
Mass (g)ol 1
seod leal
_._,-I".-
| | f—tg— - -
2 d4 - b -] el ‘hm {dﬂjl'ﬂ-}

la) During the first len days, it was observed thal there was a decrease in the
mass of the seed leal. Give a reason for this observation. [1)

(b)  What happened 1o the mass of the seed leaf from day 10 onwards? [17

L

{c)  Give a reason for your answer in (b). [1]

Score




41. David wants to set up an experiment to invesligale how the amount of soil
affects the height of the seedling. Piace a tick (v) next to the factor(s) which
he should keep constant io ensure that it is a fair testR [2]

| The amountof soil. T

| The amount of water.

The amount of sunlight.

The location 'ﬁh??ééﬁﬁﬁﬁs_

i T

42. Two balloons, A and B, were filled with air and balanced on a straw as shown

below. - Sticky cellophane tape is placed on Balloon B to prevent it from
bursting when pierced.

é cellophane tape
A B N

(@) State two observations io the set-up that ybu will be able to make when a
needle is used to pierce the cellophane {ape on Balloon Bﬁ_[Z]

0
O

{b) What does this experiment show? [1]

Score -

26




. 43.

Study the flow chart below.

Does it have a fixed shape?

No

Does it have a fixed volume?

No

What states do P, Qand R represent?

Give an example each. 3]

., [ State ' 5 Example
P
Q
R

27

Score”




44.

Hannah placed the underside of a leaf under a mi

the picture below.

Croscope and noticed some
tiny openings as shown in

Tiny
openings

(a) What are the tiny openings found on the underside of the leaf known as? [1]
(b) Name two functions of these tiny openings. [2]
)
(i)

Score

28




Food is first broken into smailer pieces.

e ——

Food comtinues to be broke_r_l.down into

simpler substances and digestion is
completed here.

‘Water is absorbed from the undigested food.

L ——

ldentify the organs X, Y and Z_ 3]

(i) Organ X - \
(i) Organ Y z \
{iii) Organ 7 -

:

29

e

Score




46. Sally set up an expenment to magnetize a steel rod as shown below.

~_—Steel rod
]

Battery -

~ She found out that by changing the number of tums of the wire around the
steel rod, she got different resuits when she used it to

altract some pins.
. The results she obtained are shown in the fable below

|

(a) What conciusion ce;n be made from her observations? [1]

(b)

_ Name one other way in which a piece of iron naii can be magnetised. [1]

(€) What will happen if ydu hammer

the magnetized iron nail in (b) several timmes
and place it near some pins? Gi

ve a reason for your answer. [1]

End of Paper
Setters: Mr Priji Nair

Ms Sanisa

Score

30
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32)Gainéd Heat-:>Plastic:Container Metal Ladi, Ice Cubes.

Lost _Heat——l>_ ~ Hot Tea, Ice Cubes
53)M05q5itd lay eggs ani spegdthe:r la ar!g_lpupstage in..
stagnant watei. By.getting'rid of stagnant'water, the'young will’
not be able to grow’and develgp.into-adult. |

- worm beetle has of.our stagelife cycle. &
1))The larva of the medl'worm beetle does not look like the
adult but the grasshopper nymph.

b)They will becomé extinct.

34)a)i)The graséﬁgppg_["ﬁas a tlgreestag Tife cy I& while

Page 1103 page 1




35)Air occupied space in the container and the water levei was not
able to rise to the top of the container to wet the cotton.

36)a)i)It has a definite volume.
i1)It has no deﬁmteshape
im)Itis translueent L
37)Transparent clear plastic sheet
Translucent tracing paper
“ Opaque error Alummlum oil

40)a)The germmatlon seed gets it nutrientsist red in the s efs Iea : _._'

ll decrease.

Therefore me mass
b)The mass’ remﬁal ,
c)From day lot st-arts to develop;—g_ en Ieaves Wthh helps

photosynthesnze. ©T <

41)The amount of water.
The amount of: sunllght.
The Iocatmn of the seedimgs.

42)a):)Balloon B:'w:l deflate.

_ b)Air has mass;

43)P: solid, bricks
Q: liquid, water
R: gas, oxygen




44)a)They are know as stomata.
b)i)They allow the exchange of gases between the plant and the

surroundings.
if)The allow the plant to give off water vapour.

45)i)Mouth.
ti)Small intestine.
ii)Large intestine

46)a)The more turns of wire around the steel rod, the more pins
are attracted.

b)The other way is called the touch method.

c)The nail cannot attract the pins because it will loose it
magnetism.

Page 3



